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J Total Marks ; 300
Time Limit : 6 mts

[ Time Taken: ]{

Write Bead values: 4>\l(}(4 marks cach )
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Without Abacus With Abacus
Marks: 6x10(6 marks each) Marks: 5x10(5 marks each)
1 3+6-7= | 2 I 89-8+6+2 = | 89
> 9-843= [ | 2 40+6-1+4 = | Hq
3 92-6= | | 3 77-6+2+5 = |98
4 3+5-8= @ 4 15+3-743 = | [N
5 7-243= 3 5 63+5-8+7 = | 6F
6 S5+4-2= | F 6 3143232 =| 51
72:242= | & 7 4732453 = | €8
8 99+42= | & 8 4423457 = | 98
* Gmls 0 9 64-12-50 = |OR
10 2= | B | 10 99-55-34 =| O
L
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Write Bead Values: 4x10(4 marks cach)
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Without Abacus . With Abacus
_ Marks: 6x10 (6 marks cach) Marks: 5x10 (5 marks each)
| 3+5.8= E e 29-4+3-7 = [ 5
2 7H15= [ 3 2 7346442 = [= 1
3 96+5= | 8 | 3 85+4-3-5 = [ g
4 34]-2= by} 4 88-6+7-3 =| 8g
5 5435~ | S | 5 44+5-9+9 = |9
6 3+1+s= |9 | 6  11455-16 = | 50
7 3452= | & ] 7 60+22+17=[ 99|
3 2+7-8= | I | 8 8341628 = [ T
o 9.817= | B | 9 1345152 = | )9,
0 8-142= | 9 | 10 77+21-95 = [ 03
R
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